Math 202 — Quiz 4 (Term 172)

Name: ID #:

Problem 1 (3.5 points):

If y; = cos(inx) and y, = sin(Inx) form a fundamental set of solutions to

the differential equation x2y"" + xy % y = 0, find the general solution of

x2y" + xy4 y = sec(inx).
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Problem 2 (3.5 points): Use the Annihilator method to find a particular
solution of the differential equation

yn . yl — Zy = COSXSinx,

W
\’komo> e necowns

—"""3 u ]

(‘D?—, 'D,’L> 53; :,!i; San AN

SN 9 a“g\ cLes 27

j)l—k Lf' anr\L \m'\ ﬂc\—H/:)

53 "‘ (N2 —_
> (Dlw)(o»)(fow)gz(”DWJ(ZS 2n)=0
C—L’,&Q&%% ,

L
- A z

Sin 2 +
= 3 A A £ Cy
H

B+o bf—-
Thes «3‘3; o S eb R, T detinmens d

c—
——

\j(\D QO\OOS»Z)L—:L):) SN A%

) 'g\a,ivf‘)—b oS A

j?:,'«kan



ulagz‘-\i-»\)& % é’—gu\c o =

~4a S -4bos — 2a Cosz)w,zb Sin2x

- 224 S 2}—1\3&3523(: _}9: Sun L

(2‘3 —éo\) Sin It — (éb +2a>@52,1: i_ StnAX

L =

EL\D/(:.C*:-T;: => ib{—\%b:— b= 5

_3\
— o= "~ 2
|

g' /,__.Smil-{' Cos 2% .

)
W
i

4o L/—o
77\11 31:’&;«\1\/\,« f% 7‘{(1 )’\mf\"\u{V\o\Jer\(_c\xS (S

AR



3.5
Problem 3 @ points): Find the general solution of the differential equation

1
y'+3y"+ 2y = oL x> 0.
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